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u or Vo (inital velocity) , V (velocity) , a (acceleration)

s (displacement) , t (time) , g =9.8 m/ sec* or 980 cm / sec?,
7, J— , K) are aright set of unit vectors .
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(1)1 the forces: Fy =40 =37+ k , F, =i+ 2k
and F; = 4] — K acted on a body for
5 seconds, then the magnitude of the impulse

of these forces on the body = -----. ... unit.

@) 5v26 ® 5v30
© 5v5 @ s5v1i7
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@ A Particle moves in a sj[raight line under the| -3 s Ls S Gjess o
action of the force F =(sin 25) Newton, where S (Br ) e s sl
\ . . P (S ) =0 35 55
S is the distance between the particle and a s Bl b
constant origin point on the straight line and j" R e N
measured in meter , then the work done by the -l Aulley V“"“J e dedl 400
force F when the particle moves from S = 0 to| J, b 19868l e Jsdudl Jaddl 96

n . . -‘
S=7 equals ......... T:ddijﬁw=duﬂm¢3\
............ éﬁh‘i

@ o ® -2 joule - @ 2O
@ %Joule @ 1 Joule Js= ) @ Jﬁ’;% @
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@ Answer only one question of the following two qustions: | ,s.za ;a3 i (e o

A) Abody of a unit mass moves under o B N S v 8,55 3] ()
the action of the forces: F; =al +J, (98l 3L
f;:i+bj+312andfgzi+2j-efc. P+ =0
If the displacement vector S is given by B Yt Pt =y
§=ti+(%t2+t)j+512,ﬁndthevalueof B =PVt =0 «
each of a, b and e. MR oy i3] azits OS5

¥-1 P \ A\ -
o) °‘|'—\)°(U‘|‘YUT)+-\;~U= <

B) A rough inclined plane of length 2.5 m, its ) | X .
4 o ) _bc;.JLPdﬁJ{MZA?jLﬁ
height is 1.5 m and its kinetic coefficient of

1
fricti Is —. Find the least velocit e .
TiC 10r{ equals 7 .md .e east velocity fYo Dol i Ble g e (L)
by which a body is projected from the S\ Jalas Y, 0 aslisl g

lowest point in the plane in direction| X Gf\ \
of the line of greatest slope upwards to S il YT k; P

reach the highest point of the plane . s Jaud oye e o BAR
S5 das ool b g gl
S N SO Y e
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@ If a particle moves in a straight line where s s B e 23,5313
t?e algebraic measure of its position VGC"[OI‘ T A 50 aoiidd 63l oLl OIS
X is given by x = 6t2 —t3, then the motion O e

1s acceleratedin ......... - ) . A
........ & d&‘)\.«.&a Qﬁ dSJ}J\ QP

@10,4 [ M 10,2[UJ4,00[ |Ject[UIY - [@ 1¢<-I[()
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(5) 1fv=3¢-2t, x=1whent=0, covTor = s
then x = ...... o =0 ks \ =
............ 1)) 4%

@ 6t-2 r—o1 (D

® 32 -2t+1 vior—or @

© t3-t2+1 PR S)

@ t3-t2-1 V=o-"u ()
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Aball of mass 100 gm moves horizontally with | ie ., s 8 e =\ kS 5,8

velocity 9 m /sec to collide with a vertical wall| . 355 ol y Sl Conilaro) &/ 4

and rebound back with velocity 7.2 km / h. v ' -
.u—o/vj\/,\’ \b)d&d&ﬂ

I1f the contact time c?f the ball with the wall is Ll » 5,501 S ) 56 136
7o second, find the impulse of the wall to the L1 e + -

ball, then find the pressure of the ball on the wall.| s . ; S sl s rus oia
At e 8,00 dass e
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@ A particle moves in a straight line from a| il iz Uﬁwb@ e S
constant point on the straight line starting| . ¢ y e Lt I Lasdl s

3 :
from rest such that a = 5 x% wehre a is Blie > s w——}u\f e

measured in m /sec and x in meter. A o /by
Find: s gl
(i) the velocity of the particle when x = 2 m. V= Less vwoJ | s (1)
(ii) its position when v = 4m /sec. &/ pt= E ks quwesd! o5 (ii)
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If a body of mass 200 gm. moves with A e o2 Vo aks” (e 2,25 13
velocity v = (60 T — 80 j) cm/sec., then its &/ o ( A=
kinetic energy equals ....... Joule NP— _ S B o
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@ If the power of an engine at any time is equal | dasd o we & 508 <olS 13)
to (9t2 + 4t) Watt, then the work done by the| sz by (vt o) gols
engine during the first three seconds equals S I DY sl Jsdall

........... JOUIC. J}p: I gjﬁ\ KBl

@ 93 ® 31 " @ w O
© 58 @ 99 w oA 3
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Answer only one question of the following| us.zs . o001 (diiudt asi e cini
two qustions: . \ .
J Gk e g ¥ S Bl 2o ()
A) A car of mass 2 tons moves on a horizontal U”/S‘S\ Aaglaedebiiads oy 30
road with uniform velocity of magnitude ) " W
. : . V:gu \o. &9& &:J\AJLQA 2
108 km/h against a resistance equivalent| "

to 150 kg .wt per each ton of the mass of Bl S e o S
the car. Olasdl sl 65038 1 cls !

Calculate the power of the engine in horse. s 55 (o)

ARG
B) The force F = (61 + 2 j) Newton acts on a P (~PY+ =1
body to move it from position A to position| Ji P 23 oo oS > =

l];% 1(r11 2. secpndsB Iftﬁle pcl)stl.tlon vector of the o B o sl

ody is given by the relation: peant (s i S)

7= (3t2 + 2)i + (2t% + 1)], el e e 6 B

Ly . 2 O+ o+ (Yo =~
where the norm of 7 is measured in meter| ~° (' 72Dt~ (F+0f)= v

and t in sec, calculate the change in the| -%5WL v b= Hlas doo
potential energy of the body. 'V“‘?J\ 23 Bl b ) st
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In the given figure: BN
If the mass of the body placed on the smooth £ 325 V,,_{ Y kS -
plane is 2 kg and the body starts to move el g se s

from rest under the action of the force F g L i

. . - . 5 “ 3
whose magnitude is 1.5 kg .wt., then the ol v o* J:" .
acceleration of motion equals ......... V"g LD, 0 eyt 19 853

.......... = 35 20l dlse 01
®

©

30° , . \
@ 2.45 m/ sec? down the plane. S sl Yy YCl)/( v,¢o @
(® 2.45m/sec?up the plane. 8 gl AN '&/p Y, 0 ©
(©) 4.9m/sec?down the plane. 6 gl J2Y 'é/c XWES
@ 4.9m/sec? up the plane. & gl Y Yi‘»/( 4 ()
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@ If a constant force of magnitude 24 kg .wt acts v>5 Y aylade Al B3 5T 13)
1
— > \ - )
on a body of mass (m) kg for 25 Secto change| &, — Bue) V’5 & s - S

its velocity from 3 m / sec to 54 km / h. in the w/¢5°5dl¢’/(‘“oﬁ"~""ﬂ¢m"“é

same direction of the force, then the mass of B3l olod] kS s
the body is (m) = ................ kg. LS
roJ. B);
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@A body of mass 14 kg moved from rest on| .. (,>5 Ve alsS o 3,50 13
a horizontal road under the action of a force L3t u‘“‘ Sk e oSl
F of magnitude 2 kg .wt and inclines to the W S”S ¥ layldie D 345
horizontal at an angle of measure 60° upwards Y T gl &y 51 LB e

against a resistance of 0.95 kg .wt. V’5 (&80 Layle deglie i

Find the work done by F during the first minute. | 5, 1. 55 Jgdaadl Jaidl st g
SNV ARSI JYs 43
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A body of mass 300 gm. 1s placed at the top wm&yyﬁv. calsS -

of an inclined plane whose height is 1m. Find Vaelid Bl ¢ o

, : . ¢ )V Bl (6 gts

the velocity with which the body reaches the ) .
\V“’M s D) |

bottom of the plane, if the work done against “; ‘ \@ ) UJ & »3‘

the resistance of the plane equals 1.59 Joule. I

Joz V5,00 6 stand) deglie w2
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@ If a body of mass 8 kg moves in a straight ‘ngﬁ&/\wﬁﬁﬁ\sg
line such thata = (2t-6)m/ sec?, then the O/ (1=oT) = > S oy
change in the momentum in the time interval| ; | 5 45,0 4.5 3 Ll 1

3<t<5equals...... kg. m /sec 0> 0 > ¥ aue))l
u/rfg .................... hsﬁ\"“'i
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A child stands on a pressure balance inside a o5 lard Ol e ity Jib
lift moving downwards with acceleration of Jay b\ 5 S daas S
magnitude 1.4 m / sec?. If the reading of the| . ;¢ 13). vé’/f V£ Laylde dowu
balance is 30 kg. wt, then the weight of the V"{uv gl el 3

child equals ...... kg. wt (“’S . S 05 0
i e o D ceeeenns = D) s

@) 26.25 (®) 30 @ ri,vo (1)
© 35 @ 36.25 ri,v0 (3) ro &
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@ Atrain car of mass 10 tons moves with velocity | is ., 8, Ul \+ kS [l & o
20 m/sec. , 1t collides with another train car of L ym caeilagol 13 d;/( Yo la,lade
mass 10 tons and at rest. If both cars move| i . S sl JESERIT:

directly after collision as one body, ol S : sl dns Tns 1S 555
calculate: s s |
(i) The velocity of this body directly after HEW (b&aﬂ\ = V“’-J‘ TS o
tmpact WY AP Ry )
(ii) The kinetic energy lost by collision. bl Bas2adl 38,01 8L (ii)
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A body of mass 10 gm. is placed on a rough
plane inclined to the horizontal at an angle of
measure 30° and is tied to a light string passing
over a small smooth pulley fixed at the top of
the plane, the other end of the string carries
a body of mass 15 gm. If the coefficient of
the kineticlz friction between the body and the
plane is 75 , find the time taken by the first
body to cover a distance 98 cm on the plane
and find its velocity then.

S5es S g g250 0 V1 AU
e Bl BV e de ¢ s
lde 355 o oy it lady Ly
ey Sl e e dnls
\sggﬁ\owuﬂ?,m@b
M\Oﬁgﬁw@v\ng\f

D clio gl

I s 23l gl eyl st
S5l o o A Bl dlai]

SN Al 1 gl

r19/0-1A Joll joaJl - G=alpold Aulhhl) A A uj



